5.3 Notes

Example: Scores for an exam are normally distributed, with a mean of 75 and a standard deviation of 6.5.  What is the lowest score you can earn and still score in the top 5%?

Remember: the z-chart only gives values to the left, so the top 5% corresponds to the bottom 95%.  We need to use the z-chart “backwards”…look “inside” the chart for the percentage (area) closest to .95.  

.9495 and .9505 are each very close…the corresponding z-scores are 1.64 and 1.65 (you can use either one…or average them.)

z = 1.645   plug it into the formula 
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Solve for x:

x= 85.6925 so the lowest score that would still place you in the top 5% is an 86
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